
Challenge:

Round each of your answers to the 
nearest 10.

Date:
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 108 ÷ 9 =

3) 1746 ÷ 3 =

1) 45 ÷3 =

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

Date:
Score:

2) 365 ÷ 5 =

3) 6118 ÷ 7 =

1) 72 ÷ 2 =

Date:
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 4758 ÷ 7 = 

3) 7368 ÷ 5 =

1) 9586 ÷ 8 =

Date:
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 3764 ÷ 1000 =

3) 9 ÷ 100 =

1) 4250 ÷ 10 =

Challenge:

Explain how you solved question 3.

Challenge:
Roman Numerals

XC
DLXVI
MMDCCLXXXVIII

Challenge:

Convert this mixed number fraction 
to an improper fraction. 

4
5

8


